B2

A F BT R R

BB TREOLT 42 T HEIEHIA LBZ0 1 (2825)

2 R MOMEZE [ Pl ASLETR2 TH M
(B 2] Shsmfg TA = 335m
- SEANME T (ILB) A = 335m
< JHET 1=
b 15K
c NLEZRT GHAK) N = 6 &

3 PETHA ERR28HEI0H 28 H  ~ k28412 H 13 H
4 ANFLBITH OFAT) SEAR28HE10 H 21 H  ASE BT 4 A AAL=
5 WAL CGRK) &% —4 4,578,120 [t (FBiiAZr)

6 HILE (e m]  Helat oo— Py AEREREI%R &R b

[1E ATl RCERRF AR A LT T B 2363 1
T T EAMmES —4& 5,341,680 M4, (FiiAr)
8 Fe Al FRAm A —4& 4,558,680 4, (FiiAr)

9 AFLEOKEIDOAFEFE (Piikx)

A KL #E 4 EAEIPNG RS 51 B 2Im AFL4EH W =
TE ) | R R 4, 239, 000
EL 1L R 4, 240, 000
T SRR (B 4, 254, 000
() = e sk 4, 239, 000
(PR o) e % 4, 450, 000
A ST R RN 4, 452, 000
(PR L LIk 4,237,000 %)
WY o — R R 4, 239, 000 %;FIL‘;%(F@&??%)
RS- 4, 352, 000
T B

B #x S s
FrERE b FAKERR




